T R30EE HERREXE U-18E2BY —J B xtEi&

1] AH B =8 |B&HE i} B x| ] AH E| £ iS4 0| i B 3 ]|
4878 | + |sB@E 1000(%B&H®EB 0 — 0 EiNE AEIE N EEEET — AEIE i
1 12:00| Ejn 1 — 0 AEdk | HFEHHBE 8 9H2H B |HBEE|12.00[#HAKE — Ehn S HENEE
10.00|fEmEHXB 5 — 1 FHEMAR| EHANE 14:00 | 5% FH #0055 — EXfEXB| AZi5
4A8H B |ERNEE|1200E@EME 5 — 1 AEIB B N EEEET — EREHAE| Em
14:00| Ejn 0 — 0 EmE |HFEEHM#EXR|] 9 9H9H B |BA#HBE[1200(#HAKE — BEmE |HEESMEAX
= 1000[AERE 1 — 1 FEHHKEK| FEHR 14:00( Eho — EMINEE | MARE
Fik| 4A228 | B | ABLE 12:00| ZB&%EB 2 — 3 0 AEIL5 0B158 | + |mmise 10:00 [ 5& AR — HBAKRE | EmR
sE128 | + | = 10:00|7Em@%B 4 — 0 ENE | EBEHEFE 10 1200 AZ1L5 — EME | BaRE
) 1200 Efn 5 — 0 FAEHHFE| ERER 0B168 | B | A= Q00| fERERE — EHARB| AELE
sH13E | B |mane [[00|BEHE 8 — 2 EMNX En - 1200 AE LS — EHIER | FREE
" [1200[EMHKEE 0 — 2 &0 BERe o178 | g | = 1900 FEin — FHERHAR| TERER
10.00|7EmEsx8 4 — 2 FHFHEHEB| ZEmME 12:00 | 7Emt 5B — A =) i
5268 | £ | EME |1200] EmME 2 — 2 FHEEFE| HAKRE 0B208 | + |mmise 10:00 [ & AR — ZHEEB| FEME
4 1400[BABE 1 — 3 A=A | EHEE = 12:00] ZmnE — EEHEX| FEABE
10:00[SEMMEE 2 — 2 JEEkfEFRB|HEB&HEF| 11 10:00 | 7EB:fE%B — AEIEE | EHNE
5827H AELG|12.00(568%®E8 1 — 3 ZHEFE| EmNE 98238 | B |[TEBFER|12:00|FHENEE — EBHEHEXR| EMNE
1400) MO 0 — 5 AEIE | EHNE 14:00| EB & %EB — EMNR | TEBRMEX |
5 | 6H2H MRS [1000[FHEMHME 5 — 3 #BAKS | 10:00| Ef0EE — £ AEALFE
10.00[GEMEME 6 — 2 HAHHFE| AZIE 9A298 | £ | EME [12.00| #y A HAFEB EnE
78148 | &£ | EHEMEE|[1200(EREEB 1 — 0 AZELE | #Haks 12 14:00 | A RE — A | #AFEB
6 14000 Emn 3 — 0 #ARE [ ZEENE 0H308 | B |mawma 1000 AEILE — Bhn HBAHRE
7B158 | B |mane 1200 HEHMEB 1 — 1 AEIE | HFEHHAE ST 12.00 | A RE — EZHEHEB i
140088 E 3 — 0 HFAHSHFE| HAHME 10868 | £ | =m 10:00] Ejn — ZHEEB| EHIE
[P 7H168 | A | E=jo [1000] Ep 2 — 2 JEER{ERB| HAKES 12:00 | 7EBE BB — FBEHK|FHARIEK
78218 | + |saH= 10:00| =R & ®B — SEHENEE | FERER 13 10:00 | & AR — EmER | AEdE
7 12:00 | 7ERfE 5B — HAKRE | ERNE 10878 | B |AEAE|12:00({ A= 4LF5 — ERSAFR| TERER
728 | B | mm= 10:00| ENE — SEHENE | ZEEHBER 14:00 | £t 5B — 0 SE HEE
IR EEEET — A =) ENE 14 108218 | B | e [10:00 HAKRE — ERSAFR| TERER
12:00 | TEBE{ERB — W E =R S




